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1) Who was the author of ‘Nrityaratan Kosh’?

1} Kumbha 2) Mandan
3) Som 4} Jagjiwan bhatt
1} 9 T B 3 T few @) 7 '
1) 2) wuzA
3) dm 4) AT WE
2) The culture of red and black mud baked pottery was related to :-
1) Kalibanga 2) Aahar
3) Balathal 4) Bagour
2) MBI RIS A TEHE @ WY & o7 -
1) @R 2) IEg
3) SR 4) TEiR
3) Between which power’s was the bettle of Sarangpur (1437AD) Fought?
1) Mewar - Malwa 2)' Mewar - Marwar
3) Gujrat - Marwar 4) Mewar - Chandel
3) aringe gg (1437%.) fw Todl % wem gaw ? |
1) #as - ST | 2) ¥rg - e
3) TR - RRETS g 4) ¥arg - wRA
4) Who associated ALii‘angzeb in the battle of Khajwa (1659AD)?
1) Jaswant Singh ' 2) Karn Singh
3) Jai Singh 4) Bheem Singh
4) o g (1659 %) F ohii @ wy R Rar ? |
1) s e 2) =4 fig
3) vz Ris - 4) dm e
5) Which following Code is does not match?
Temple - . Place
1) Shrinathji - Nathdwara
2) Dawarikadhishji - Kankrouli
3) Mathureshji - Jodhpur
4) Govind devji - Jaipur
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S)Wgagﬁr%aaﬁ%?

LIEY - RIS
1y ey - ik
2) eiftarde . FEHYA
3) gyl - Ay
4) M= Tl - T
6) The Dargah of Sufi Saint Meethe Sahib is located in :-
1) Gagron 2) Bharatpur
3) Bhains roadgarh 4) Bhatner
6) gt ga H1S wed & avme faw § -
) wEE 2) HEaY
3) HaieTg 4) eI
7} Who established Jasnathi Sect?
1) Laldas - _ 2) Prannath
3) Haridas 4) Nathmuni
7} S IR @ e e e
1) wee™ 2) wwrHE
3) eiam 4) TR
8} With which style of painting is ‘Gulam ali’, ‘Baldev, ‘Saligram’, ‘Rasmgopal’ associated with?
1) Nathdwara 2) Alwar
3) Bundi ‘ 4) Bikaner
8) e atel, gega, iR, TATE Rl o wey R R S g wi g ?
1) g 2) et
3) & ’ 4) dwr
9) Who is the author of ‘linguistic Survey of India’?
1) George Greyyson . 2) LP Tessitori
3) Motilal Menariya 4) Gairy Smith
9) RiRaRes gd oliw shsar & wew ¥ -
1) wid s 2) w9 eaiErd
3) HEmE Faier 4) ¥ fimy
20-@ 4
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10) The ‘Hanyali teej’ is celebrated in :-

1) Shravana shukla tritaya 2) Bhadra pad shukla tritaya
3) Shravana krishna writaya 4) Bhadrapad krishna tritaya
10) Rl a9 7l S 8 - e
1) S A S | 2) W g GE
3) ST FT | 4) WIEIE FET A
1) The Novel ‘Rajput Jiwan Sandhya’ is written by :-
1) Kesarinath 2} Awanindranath
3) Ramesh Chandra dutt '4j Kanhaiyalal
11) ‘Torge e wear sy foer € -
) iy : 2) SRS
3) ™Y 9% <4 4) FHRATIE
12) *Ksharbag’ is Situated in :-
1) Bundi 2) Jodhpur
3) Bikaner 4) Ajmer
12) ‘wraet o & -
DR & | 2) SE
3) €T S 4) W |
13) With which Prajamandal Movement is the name of Pt. Nayanu Ram Sharma associated with?
1) Haroti Prajamandal 2) Marwar Prajamandal
3) Jaipur Prajamandal 4) Bikaner Prajamandal
13) wftwy staeRes smi @1 ey B SeTOSH o 8§ W § 7
1) s e | 2) URETE TS
3) WYY SIS 4) qERT S
14) Prom where was the newspaper ‘Pratap’ published?
1) Delhi 2) Agra
3) Kanpur 4) Bareli
14) ‘A’ A GHTER 9 @l O vl e an P
1) et 2) I
3) @AY 4) gl
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15) What were ‘Balad’?

1} Sarthwah 2) Bakhshi
3) Sainik 4) Kiishak (Farmer)
15) ‘awe’ w1 Y ? »
1) seEms 2) el
3) &= _ 4) 9%
16) Who was appointed the ‘Raj Pramukh’ of Matsya-Sangh?
1) Dholpur Ruler 2) Karonli Rulér
3) Alwar Ruler , 4) Bharatpur Ruler
16) 7y Hy & U1 wE fod a2
1) SRR e - 2) HiEH A
3) SwET S 4) HER AHE
17) Who Setup the ‘Desh Hiteshani Sabha’ in Udaipur?
1) Maharana Shambhu Singh 2) Maharana Sajjan Singh
3) Maharana Ajit Singh 4) Maharana Jaswant Singh
17) seaqy # Fafadundt avr @ 1ow e R 7
1) #erwn oy g 2) =ewon g e
3) HER S ’E : | 4) TEROT SoEd [
18) Which is not a puff instruments? _
1) Algoja 2} Satara
3) Morchang 4) -Suunandal
18) s o g o 6 B 7
1) e 2) waw
3) HEm 4) GEHIEH
19) Between whom was the bettle of “Tunga Fought?
1) Pratap Singh & Mahadji Sindhiya 2) Ragoba & Jaswant Singh

3) Jai Singh & Mahadji Sindhiya

1) wa & ofir "l it 2) e o srae e

3) srufife of mewEsl T 4y it o wereh fifea
20) Whéﬁ was the state of Yhalawar established?

1) 1836 AD 2) 1838 AD

3) 1842 AD 4) 1844 AD

4) Bheem Singh & Mahadji Sindhiya
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20) FFTEE TG HI ORI B g8 7

1) 1836 &, , 2) 1838 %.
3) 1842 5. 4) 1844 3.
21) What is the geographical arca of Rajasthan ?
1) 3,853,370 Square kilometer 2) 3,42,239 Square Kilometer
3) 3,38240 Square kilometer , 4) 3,40,485 Square kilometer
21) T & il Swa e ® 7
1) 3,85,370 i e 2) 3,42,239 = fwriiex
3) 3,38240 =1 feheiniiex 4) 3,40,485 a7 fereiniiex
22) In which one of the tracts of Rajasthan does Malwa Platean extends ?
1} South - eastern 2) Eastern
3) South - western 4) North - eastern
22) oo % Few & H W o @ R § 7
1) e - gt 2)
3) fd - ofeed 4) I -
23) Mukandra Hills largely extend in - '
1) Tonk district - 2) Banswara district
3) Bundi district 4) Kota district
23) g & qEial it fwia ¥ - |
1) o P 2) sigarer foer &
3) ¢ Pw 4) =i R ¥
24) Which river forms part of Sambhar lake inland drainage area?
1) Kantli 2) Bandi
~ 3) Mendha : 4) Mansi
24) whie ¥iw aafis omaE S A TR B - W@ R 7
1) wr 2) =€
3) #q -4 A
25) Which one of the following pairs of rivers in Rajasthan is correctly matched?
1) Kothari - Luni 2) Sukri - Banas
3) Jakham - Mahi 4) Banganga - Chambal
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25) oM # fe foftre F & ARl o S g 9 gafem & 0

1) ®RE - & 2) gl - g
3) g - HE 4) SR - T
26} ‘Mawatha’ rain in Rajasthan is caused due to -
1) Arabian cyclones 2) Mediterranean cyclones
3) Bay of Bengal monsoon 4) Retreating monsoon
26) IoRAE F ‘AEE 9 AR S -
1) 39 GFRE ahad L 2) W grEE 9% o
3) ST @WER WEEA 4 4) TG AT 9
27) Which crops are generally grown in mixed red and black soils in Rajasthan ?
1) Rice, Sugarcane ' 2) Groundnut, Mustard
3} Cotton, Maize 4) Wheat, gram
27) o © At @ ofir @ Rl | s ﬁ?ﬁrmm‘s‘mﬁ% ?
1) @, ‘ 2) Yroeell, W
3) ®UHE, HaH | 4) W, T
28) Dry teak woox forest extends over the largest area in which Forest Division of Rajasthan ?
1) Rajsamand 2) Banswara
3) Sirohi ‘ 4) Kota
28)%8@%@%%%@%%%@%%“%@% 7
1) e 2) W
3) R 4) wrer
29) More than two-thirds of rice producing area of Rajasthan falls under which agro-climatic zone?
1) Flood prone eastern plain 2) Sub-humid southern plain
3) Humid southern plain 4) Humid south-castemn plain
29) T ) & - foew § ARt wrew saes G feg g - S @ve & e e 7
1) O o Y Her ' 2) wus el frem
3) & el feH ' 4y ong el - gl fem

30y In Which districts of Rajasthan Mewat breed of cattle, buffalo and goat‘is foﬁnd?
1) Bumndi, Kota, Baran
2) Dungarpur, Banswara, Pratapgarh
3) Alwar, Bharatpur, Dholpur
4} Ajmer, Tonk, Bhilwara
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Wﬁmméﬁ‘ﬁfm%aaﬁw%f%ﬁmﬁﬁmm%?

1y 441, e, 9n 2) S, AR, FA9g
3) AR, YT, Gy 4) @, 2w, deas
11} Band Baratha wildlife sanctuary is located in which district of Rajasthan?
1)} Bharatpur 2} Dholpur
3) Alwar C -4) Karauyli
1) g AvE g SR TR & fhd Bie F srafm ¥ 7
1) wegt | 2) HEIgR
3) et 4) BT
312) Where are the biological parks in Rajasthan established? ‘
I} Nahargarh, Sajjangarh, Machia 2) Shergarh, Nahargarh, Akal
3) Akal, Sajjangarh, Marudhara 4) Van Vihar, Akal, Machia
32) worum & AP Tu @Rt wnfuw frg o E 7 |
1) WP, WU, AR 2) 9Tg, ARV, SHHH
3) W, TN, WEU 4) = foRn, e, e
33) What is percentage of land irrigated by canals in Rajasthan (2013-14) ?
1) 2649 2) 2436 '
'3) 2885 4y 2975
33) vorar § el T Rifv 8 o wfe R § (2013-14) 7
1) 26.49 2) 24.36
3) 28.85 4) 29.75
34) Odd out the pair pot correctly matched -
River alley Project - Participating State -
1) Bhakra Na‘ngal - Punjaﬁ, Haryana, Rajasthan
2) Chambal _ - Madhya Pradesh, Rajasthan
3) Beas : - Punjab, Rajasthan, Uttar Pradesh-
4) Mahi Bajaj Sagar - Gujarat, Rajasthan
M) g g @ osfeg- |
il o eS| Hedr
1) e e | - dor, AT, T
2) T - TE9T, TR
3) @ - e, T, Y ey

4) "El g9 TR - TR, TRy
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35) On which site is the main dam of Mahi-Bajaj Sagar project built?

1} Khandu 2) Borekheda
3) Ghatol 4) Kadana

35) mdi-gemer AR 9fEET & gey dfg Bn e PR g Y
1) @i 2) draE
3) g™ : 4) HeTn

36) Approximately how much percentage of usable ground water available in Rajasthan is being currently
utilised? .
1) 50 2) 25
3) 66 4) 75

36) TR H SUME YT @l SO SO o G T Sei VT oA § S9arT | for o @ E ¢
1) 50 2) 25 o
3) 66 . 475

37) Odd out the incorrect statement regarding fluorosis problem in Rajasthan -
1) All the 33 districts of the state are affected by fluorosis
+ 2) Western and southern districts of the state are more affected by fluorosis

3) Fluorosis is more affective in rural areas than urban areas
4) More than 72 percent villages of the state are affected by fluorosis

37) oI H TR aTen § Wt T 99 B Bl -

1) Tom & a4 33 R v | gl €
2) 59 & uidad ud <ol Bl wiiie @ ot dite §
3) ored et &Y orden iy & § Wi/ & v o §
4) v § 72 9RiE @ aifde Wi v | 9w #

38) Cities of Rajasthan located on National Highway No. 12 are -

1) Jaipur - Ajmer - Udaipur 2) Jaipur - Bundi - Jhalawar

3) Jaipur - Sikar - Bikaner 4) Jaipur - Nagaur - Jodhpur
38) v ¥ T veRt e 12 W Rag T - '

1) TG - TR - TP 2) TR - L - AR

3) A - G - AR | 4) TR - TR - TR
39) Large reserves of pyrites in Rajasthan have been explored in -

1) Sikar district 2} Chura district

3) Jhunjhunu district 4) Bikaner district

20_. 10
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19) wrwend § ureee % faone woer @ T E -

1) e B A 2) qw for &
1) deq forer o 4) AT e 7
40) (0dd out the pair not correctly matched
Mineral ' Mining Area
1) Iron - ore - Morija - Banol
2) Tungsten - Degana
3) Maunganese - Lil wani
4) Gypsum - Rishbadeo
40) s g W BT -
afs | T &
1) oy - 3ORF : B8 - A
 2) e : g
3) fmirx - A
" 4) P - FIR
41) Which of the following stones falls under Metamorphic category?
{) Sandstone 2) Granite
3) Marble 4) Basalt
41) Powifiy & & wmE TR RITERT (Metamorphic) o & SR € ?
) e 2) dmge
3) dmnR - 4) TEwe
42) A good brick earth should contain alumina in the following limit
1) 5-10% 2) 20-30%
3y 40-30% : 4) 60-70%
42) ve sedt §e @ oy et F o @ A E AR |
1} 5-10% | 2) 20-30%
3) 40-50% , 4) 60-70%
43) During slacking action of lime the volume
1} Increases 2} Decreases
1) Remains same 4) None of the above
4% 1 & gE (slacing) ¥ IHE ARITA -
1y agan ¥ 2) = ¥

3y gE vEar ¥ 4) TG | @ T

20-@ 1
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44) Rate of increase of compressive strength of puzzolanic cement as compared to Portland cement
during first week of setting remains

1) Slov 2) Fast
3} Random 4) Nonc of the above ,
44) gem wars ¥ puzzolanic WHe @ Gdidlg gl (Comp. Strength) dideve Hivle & goFT H 2841 & |
1) 4 2) & |
3) stigEa 4) 30w H Big A
45) If water cement ratio in a concrete is increased then compressive strength
1) Increases 2} Decreases |
3) Remains same 4) None of the above
45) afy Fenie @1 9ET U9 die % oTu aer R 9 dr 99 ame (Comp. Strength)
Dl , 2) wedl ¥ |
padiwhdl C 4) st § @
46) 'The size of cubical mould for testing compressive strength of cement shall be
1) 150mm E 2) 100mm
3) 70.6mm 4) 50mm
46) de &1 Y gl (Comp. Strength) Se ¥ BiY @1 HIEW &1 § |
1) 150 THUq 2) 100 wR.Ug
3) 70.6 vq.wq ' 4) 50 T.Ea
47) The core of cross section of an exogenous tree is called
1) Sapwood _ 2) Pith
3) Heartwood ‘ ' 4) Inner bark
47) GRS ga & S BT % G AT T B ded ©
1) Hgs 2) R
3) Ty ' 4) IR Be

48) Which of the foliowing range of Pigment Volume Concentration Number is recommended for paint
for prime coat on metal?

1) 25-40 2) 40-50
3) 50-60 4) 60-70
48) oTg W WIEH e &g WY paint % PVCN & S@en el ¥ |
1) 25-40 ‘ 2) 40-50
3) 50-60 4 6070
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449) The softening point of various bituminous grades in (degree centigrade) for paving jobs vary between

1) 10-20 2) 20-30
1) 45970 4) 1100
49) fafveg faefasr I %1 wew Pmin 3 softening point =1 e F wa & |
1) 10-20 2) 20-30
3) 35-70 " 4) 70-100
$0) The Marshall stability value for bituminous mixes for heavy traffic shall be not less than
1) 7110 kg 2) 810kg
1) 910 kg 4) 1010 kg
50) wrhh qrmar ¥y fecfi fo ot Wi value Fiifea & @ R 6l R |
Iy 710 kg 2) 810 kg
3) 910 kg o 4) 1010 kg
$1) Deflection due to bending moment in a regular beam of uniform cross section is proportional to:
1
) Bl ) g
3 (-%r 4) (ElP
B

$2) Deflection of tip of a cantilever beam of span length, L carrying uniformly distributed load, q is:

48! 12EF
[ ar
» REI K 6EI

$13) A rubber barof length 1.5m and 200mm diameter is stretched along its length by 20mm by a force of
ISKkN. As a result its diameter is reduced by 2mm. Tlie poisons’ ratio of the bar material will be:

s 2) 1
3) 075 \ 4) 05

$4) A structure is subjected to different set of loads, and then sum of deflections under each set of loads
acting separately is equal to total deflection of the structure due to different set provided loads are
within:

I} Elastic limits including buckling

2) Proportional limits without buckling
1) Efastic limit

4) Limit State

20-@ 13
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55) Moment of inertia of a rectangular flat (length, L and width, B) about its axis parallel to its length at
a distance B/2 from its top face is:

Br LB
1) ¢ 2) ““g““
LB} . B’
3 i
) 12 K 12

56) A simply supported beam of span L, is subjected to two point loads (each of magnitude P) at a
distance of 1./3 from either support, The maximum bending moment in the beam will be

1)y PL : 2) PLA2
3) PLA3 4) PL/4

57) A rectangular beam section has width 120mm and depth S500mm. The moment of inertia about an
axis at mid depth parallel to width will be: ‘

1) 15 x 10"%mm?* 2) 12 x 10*mm*
3) 125 x 10°mm* 4) 125 x 10'mm?*
58) A column of length 1.5m is pinned at both ends has radius of gyration 150mm. The slenderness ratio
will be:
1) 150 2) 100
3) 10 s

59) A simply supported beam (span L) is subjected to uniformly distributed load, p throughout the span.
The rotation at each end will be:

3 r
1) pL 2) P
48ET 24E1
I’ 15
) -2 4 P&
12E7 8EI

Where El is flexural rigidity

60) Ina simply supported beam, maximum shear stress in a triangular cross-section (altitnde h) occurs at

a distance:
1) W3 from bottom of beam 2)_h/3 from top of the beam
3) h/6 from neutral axis : 4y W5 from top the beam

61) Error due to bad ranging is
1) Compensating ~ 2) Cumulative positive

3} Cumulative negative 4) Both (2) and (3)

20—. ¢ ‘!4
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th at 1) ang JET B B0 B A gE B - ,
1) warh 2) uv gl

3w He 4) Tl (2) T (3)
62) True meridians '
1) Converge at a point called pole 2) Are parallel to cach other
at a 3) Converge near equator 4) None of these
62) qud gnrEt
1) o fag w freht &, B g @ 2
2) T8 ¥ & Wi S &
it an 3) g o v ferd &
4) Tojwm ¥ & o w6 -
63) Absence of spherical aberration in'a telescope is called
I} Achromation 2) Chromitation ’
aio §f 3) Aplanation 4) Ablation
E 63) ool # wiwbr e 1 srgaRae eed § -
1) srocher 2) i
san. § b4 m ‘ 4)
L @4) "Polat of curve’ of a simple circular curve is
| l}m of commencement 2) Point of tangency
] 3) Point of inter-section ~ 4) Allof these
| 4) wem e s o o R ® -
1y wriftres faey ' 2) @yl g
: 3) sfveder Ay 4) SUgET qHI
E 63) The method of surveying in which field work and plotting work are done simultaneously is called
s at 1) Compass surveying 2) Chain suﬁeying '
1) Levelling 4) Planetabling -
63} alewr o 5w RS § e B od aerem e S w8 2
) fepaems e 2) s g
1) Asey 4) vew wdgm

0. @ ' 15
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66) Which of the following errors can be eliminated by reciprocal measurements in differential leveling?

I Error due to earth curvature
H Error due to at:.;spheric retraction

1) Both Tand 11 2) Lonly
3) Honly | 4) Netther I nor 11
66) wgigu go"w ¥ qrwmiie w9 i g @ @ gital @ o o o ¥ -
1 9% &1 Iobel 81T e arel Jie
1 95 % 964 210 BF 9t I
D 1T HaER 2) g1
3) fd 1 “ 4) ¥ i I &R 8
67) If bearing of a line AB is N 60° 30! and that of BC is 122° of a closed traverse ABCDE, then measure
of the interior angle B, is ,
1) 240° %0/ 2) 122° 00'
3) 1182 3¢ 4) 150°

67) 3Rk tF Y@ AB ® ReuW N 60° 30'% @ var BC & e 122°% | o W HwEl ABCDE |
i aafs @1 B ®1 A 80 -

1) 240° 30 S 2y 122° 00
3) 118° 30 4) 154°

68) The contour lines merge or cross one another on the map in case of
D Vertiéal surfaces 2) Overhang ground surfaces
3) Cave 4) Al of these

68) @Wamwmmaﬁmm%m@wﬁm%
1) e gaw 2) WeEE oM WM §aE
3) T 4) I T

69) The process of bringing vertzcal circle to the right of the observer if 1t is originally to the left and
vice-versa is called

1) Face left : _ . 2) Face right

3) Changing face | 4) Allof these
'69>mﬁﬁmmammmﬁ%ﬁmma aﬁagn@w@aémaqam

e A T - _

1) 91l B E - 2) TRl

3) o aEdT = 4) wudea wlt
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Jling? /iny Cross hairs in surveying telcscopg are fittéd
1) At the centre of telescope
1y Inthe objective glass
4y In front of eye piece
43 Any where between objective and eye piece
70} whwn g7l X FRAg HEl WG AR E P
1) grd & qwg H 2) Wy TR ¥ oiat
1) A & we 4) @7 T AR & 9 H Fel Wl
71) The centre line method of estimating is used for
1) Octagonal buildings 2) Hexagonal buildings
asure 1) Circular buildings - 4) All of the above
71) s @ W Y Fafy F 3 o @ @ o # -
Iy s vt | 2) TEHNE W
_ 3) T e 4) Sudad awl
CDE 72) The messurement of D.P.C (Damp Proof Course) is done in
1} Meters 2) Cubic meters
3} Square Meters 4) None of the above .
723 oh ek W wrE D.P.C w1 A9 few F foren e -
e - Dwd
5 wld 4) sedaa § § i
T3) Pollowing items are measured in kg. * :
1} Bapanded metal wire netting

1} M 8. reinforcement of R.C.C. works _
1) M.S. grills provided in roof over courtyard

4) Rolling shutters
9) om & & o A aon R, & o ¥ -
) wenddy g & AR @
2y vufers @iz HFic & yelhE T W
V) wim & Fa wa § aft wafee s gas @ ol
4) e 4z
T4) Due to change is price level, a revised estimate is prepared if the sanctioned estimate exceeds
by 2.0% 7 2) 2.5%
Y 4.0% 4) 5.0%
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74) T % w0 gae €9 & wron, gl ST e e s €, af g i 3ed s 2

D 2.0% ' 2y 2.5%
3) 4.0% 4) 5.0%
75) The expected out tarn of cement concrete 1:2:4 per mason per day is
o 1) 15 m’ | 2) 25 m?
3) 3.5 m® 4) 5.0 m?
b 75) sfr fet ofr fret @ 1:2:4 @i gefte  orgeRe uRo R § -
N ) LS. 2) 2599 9.
f 3) 3587 . 4) 5.0 4.
76) Lacustrine soil aré soil
1) Deposited in Lake beds 2) Deposited in sea beds
3) Transported by glaciers 4) Transported by rivers and streams
76) wlEY & W, WE R -
1) e & ad § S 2) O95 & A J I
3) W & gar uREsd - 4) ARGl S U 2N aRee
77) The ratio of volume of air voides to the volume of the total voides in known as
1) Porosity 2) Air content
3) ‘Percentage voids | 4} Percentage air voids
77) T Riaedl & omaee oir pa Rl & omuaw & s @ #ed ¥ )
1) g 2) AR HY
- 3) R s 4) = R & Sed
‘78) Valid range for the degree of saturation (S) of soil in percentage is
1) 850 ©2) O<S$<100
- 3) O<8=<100 1 4)8>0
78) fardt ger % foro dof siw ) S v dm R - ,
1) $50 | 2) 0<S<100
3) O<S<100 4y S>>0
79) A soil has a bulk density of 22 KN/m?and water content of 10%. The dry density of soil in KN/m?
1) 19 2) 20
3) 21 4y 22
79) Uw HaT & 66 g 22 KNA® AR Sl 10%. ¥ a1 96 & gk e KNmH g -
1) 19 Y 2} 20
3) 21 422

20-@ 18
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Kt A pycnometer is used to determine

1y Voids ratio and dry density 2) Water content and void ratio

1y Specific gravity and dry density ~ 4) Water content and specific gravity
HiYy Da, R BT SORENT AT S0 A3 & T [T AT § -

1y frawen orEmE 3R g Twa 2) Wl Sl Rermn Srura

1) wrifs e ol gw T 4) oy ol emifes TEa

El) The minimum water content in a soil at which the soil just begins to crumble when rolled into threads
of Wimm in diameter, is known '

1) Mastic Limit 2) Liquid Limit
) Shrinkage Limit 4) Permeability Limit
K1) w0  orl o =% s e Rre az od Smmera ¥ o9 8 edel & R g A R o w9,
ool k.
1) walew @ 2) o q
1)ty ¥ - 4) reTr
m Under & given load, a clay layer attains 25% degree of consoiidaﬁon in 200days. The time then by
ﬁ samé day. Layer to attain 50% degree of consolidation will be
1) 1600 dxys 2) 800 days
- 3) 400 days 4) 200 days
ﬂjé’fﬁgﬁgmtaﬁ,@aﬁﬁmzwﬁﬁﬁmmzs%%ﬁwaﬂﬁ?ﬁ% | G Y
W & et @ 50% Rl e e A A Rean W Wi ?
1 1600 Rt 2) 800 &
3) 400 few 4y 200 &=
£3) Cosfticient of permeability of soil

I} {ncrease with the increase in temperature

2) Increase with the decrease in temperature

3} Does not depend upon temperature

4) None of the above
£3) ey w o TN ‘

4y mae | ofyg & g gis 2) ANEM § & & | gy

Yy A g7 Pl w8 s 4) ITET § U B TE
R4} ¢ oclficient of consolidation is used for calculating

1) Stress in soil 2} Total settlement

iy Tune rate of settlement 4} Preconsolidation pressure

S @ 19
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84) geiBTor TUITE H ITANT fHEa ToET § B E 7

1) fedl 7 whaw 2) g% T
3) frew & wwa W 4) TREET a9
85) In-situ vane shear test is conducted to determine. The shear strength of
‘ 1} Non-cohesive soil 2) Cohesive soil
i 3) Sandy soil 4) Silty soil ,
| 85) & # A syowaw e, famedt srowaw Awed w % & fvg R s & 0
| 1) srEsmEs gar 2) wEaw 2
| 3) ¥l g 4y Rt g
86) For saturateti soil, skemption’s pore pressure coefficient B is
1} Zero ' ~2) Between 0 and |
31 4) Greater than 1
86) i war % R, wheeH % a1 i B g ¥ -
1) s 2) 03Ik 1 % 9
H1 _ 4) 19 st

87) The lateral earth pressure on a retaining wall

1) Is equal to mars of the soil retained
2) Proportional to the depth of soil
- 3) Proportional to the internal friction of the soil
4) Proportional to the squire of the depth of the soil

87) we U9AT SAR W WiEE gE €9 o & -

1) \RE & sEHE & quE

2) v @Y e % AR
3) Wg & il wuer Hiv % §UE
4) agg & wud F o B gugutie

88) The largest value of Taylor’s slate stability number is

1) 0.261 ~2) 0.561 ;
3) 1.911 S ’ 4) 2911
. 88) TR @I oo ReRal WEl w1 HEY 93 9 § - 'L"

1) 0.261 | 2) 0.56:
3) 1.911 4) 2.911
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K4y Lhe heanng capacity of a soil depends upon :
b1 Size of the particles ’ 2) Shape of the particles
i1 Cohesive properties of particles 4) All of the above
By fuedt £ URE e P ETEL § -
ty tneh & & & ST W 2) el & T Hi oEa w
Yy ek & gawm o W 4) I9E & g

Gy In plate load test to determine the bearning capacity, if soil is sand, the bearing capacity of footing is
) Independent of the width of footing
2} Directly proportional to width of footing
1} Inversely proportional to width of footing
43 Directly proportional to square root of width of footing

$0) WA WONT W F 910 T WR U §, Ak Bed @ 8 @, A9 ans e e -
1y 4 & e ¥ =7

2) ¥ & gk & TR

5 ¥ oh o & eETIEh

4 W ot Iy F T B T

Hydrology s the science which deals with

i) Rain water 2) River water
5} Sea water 4) Surface and undergronnd water

i) wd & o Z)Hfr%aamf
e kuwm | 4) W% 3R g o @

Which of the following types of rain gauges is used for measuring rain in remote hilly inaccessible

N
) Ploating type - 2) Tripping bucket type
1) Weighing type , : 4) Simon’s rain gauge
mmmmwwmm%w@mawmaﬁmmg
1y whz fror = : . 2) et st e @
W Hy fpw & 4) grus w1 Sy 9%
&%) The run off increases with |
i3 Increase in intensity of rain 2) Increase in infiltration capacity
by facrease in permeability of soil 4) All of the above
o @ _Zi ‘
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93) sruare ok |y a5 o b o
1) TRy I Fe ¥ gy & 9w 2) frar s 4 gfe & @
3y M@t @ wroram A 9fe % W 4 o Wi -

94) A sprinkler irrigation systems is suitable when

1} The water table is low
2) the soil is having low permeability

3) The crops to be grown have deep roots
4) The land gradient is steep and the soil is easily erodible

94) fvgenra RgaTd wonslt wgwd § 9 -
1) Seee &9 8
2) fredt & W @ A
3) T A A GEEl B Ag T
4) qF T @ w8 iR el @ s s 8

95) The time from planting to harvest the crop is called

1) Base period . 2) Crop Period
~ 3) Both (1) and (2) 4) None of the above
95) 5 wwa A A H A9 B G ¥ B § e @ weren § -
1) e avesft 2) wEw Fadl
3) 2R (1) o @) 4 wA TR
96) If the depth of water is 8.64 cm on a field over a base period of 10 days, then the duty Is
1) 10 hectares per cum/s | 2) 100 hectares per cutn/y
3) 864 hectares per cum/s 4) 1000 hectares par
96) w fram 10 e <1 s & oE W O @ e 8.64 ¥ K
1) 10 8= 9 cum/sec 2) 1oo%q%u<&§

3) 864 BaRat W cunvsec 4) 1000 ¥AY
97) The optimum depth of Kor watering for a rice crop, is ‘
1) 13.0cm 2) 17.0ecm

3) 190 em 4) 23.0 ct
97) e # waE & e B ar @ sty e R -
1) 13.0 & 2) 17.0 ¥
3) 19.0 T
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98) For cereal crops, the most commonly adopted method of irrigation is

1) Check methexd ' 2) Furrow method
35 Free fonsding method 4) Sprinkler method
98y arar wrelt & fary ol aifus oo T e o RRy
1) vataty 2) B0 Rl
3) %) wefén faf 4) TozmE AN
99} The Flood discharge Q in cumecs (according to Dicken’s formula) is given by
1) CA¥ 2) CA%
3) CA¥ 4) CA%
99) ars waie & Q WA { dFw & gI B ATIW A B -
1) CA¥ 2) CA¥
3) CA¥ 4) CA%
100) The quantify of water retained by the sub-soil against gravity, is called
1) Yield 2) Porosity
3) Specific yield 4) Specific retention
100) yerrede & fors u-fred & 3 o€ o @ RN deendt §
1) wif% . 2) Ty
3) faftre 3ox 4y fafire afure
10111 d is the depth of the aquifer through which water is ﬁowmg, then the reIauonshlp between
permeability K and msrmss:bihty Tis given by ¢
1) TwkKd 2) T=KAd |
3) T K3 4) K= yTd
101) oft d weray @ e & o & ol =5 @ ©  wwTEe K AR SaR0 S e T oG9 B -
$ 1) TwKd 2) T=KA
I YTV . 4 K=iq
102) According 1o Lacey's theory, the siit supporting eddies are wg,rcm-:ratcd from
1) Bottom of the channel only 2) Sides of the channel only
3) Bottom as well as side of channel 4) None of the above
102) & % fropura i i, Ryee @ faslfaa T@d ol udier oo & © -
1) &ae 480 4 44 A 2) e &Y & wvd {4
3y Ak o s med B @ 4) T § T T

20_. 23




JCDT

103) If the average size of silt particles is m mm then Lacey’s silt factor is proportional to

1) m 2) m
3) m? 4) o’
103) =i fame & anii @t oo SR m fr @ ¥ o &d o e Sheer weEER B -
1) md | 2) m"&
3) M’ 4) m*¥H

104) The shape of a lined canal as per recommendation of the ISI (NBS) is

1) Semicircular 2) Parabolic

3 ’I‘rapeioidal 4) Elliptical
104) 1SI (NBS) % 2IUR, 'qaw’r T T Snepr g ¥ -

1) oeEgnmR - 2) weafeas

3) HAARET 4) & e

105) Which of the following categories best describes the Hirakund reservoir?

1) Reservoir for irrigation and power

2) Reservoir for recreation and fishery

3) Reservoir for irrigation and water supply

4) Reservoir fﬂr flood control, power and irrigation,

zes)mmwﬁﬁﬁﬁmmmmmmmm%

1) ffad siv foowdt & e s

2) TERSM IR IR & fWU Sene

3) T o arlt &t angl & forg wmem

4) Trg Feiav, for R ReEE & o S
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d in compression (1.e. congrete) and
‘ axis is kd (where d is effective
ch one of the following represents

106) ln a d inforced rectangular beam, bending
tensios (Le. steel) are o, and o, respectively. The
depth) from top cot aréssion face and modular ratio §
correct combination in under reinforced beam?

b mk b
—_— s
b ot 1-k 2) ot
ocb mk . b
r—— . e SR
3 ost 1+k 4 ot

107) In a limit state method the maximum strain allowed in ¢ erete of a beam as per IS

code is:
) 0.02 . | 2} 0.002
3) 0.003 ' 4y 0.0035

108) In order to control the deflection of a continuous beam the allov 'span to effective depth

ratio is:
1) 26 - 2) 20 _
3) 13 4 7 CF
109) For a load test of flexural meémber, the load to be placed on a structure as per IS code shall be:
1) FulliDL . 2) Full DL plus full LL
3) Full DL plus 0.4LL 4) Full DL plus 1.25 LL

Where DL : Dead Load; LL: Live Load

110) Width of RC rectangular beam is 205mm, spacing of vertical stirrups provided is 435mm (fy=410Mps).
lf shear capacity of a RC beam is more than shear force at a section; the minimum quantity of the
' be prowded as per codal provision is:

) 2) 75mm?
3.1 4y 250mm?
111) For tension allowed limit for design bond stress is 1.5Mpa. If the bar is replaced by
' corresponding bond stress will be:
1 2) 1.9Mpa
3). 4) 3.0Mpa

112} earthquake resistance design of structures is:

2) 18:1566
4) 15:1904

)
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113) Which one of the following provides required depth of foundation of a retaining wall:

) 1[1:?22}2
¥ 1+sing

9q 1-sing
3) ;ﬁ[lmw}

-
2 L,,?__?Lﬁ}

| L+sin® ¢

= o

8 i"1+sin¢}z

y{1-sing

Where q: bearing capacity; y unit weight of the soil; ¢ : angle of repose; B: width of foundation.

114)In a RC cantilever beam which is subjected to downward load, tension reinforcement needs be

provided at:
1) Top face
3) Middle level

115) Which one of the following represents relationship between characteristic load (fck), mean strength

2} Bottom face

4) Top and bottom faces

(fm) and standard deviation (S) as per relevant codal provisions?

1) fok=fm-1.65S
3) fck=fm-28
116) Scaling objects make them -

1) Smaller
3) Either smaller or bigger

116) wpfeir s siadae H v & 7
1) ser
3) oF | BYer Ar 791

2) fm=fck-1.65S
4) fm=fck-2S

2) Bigger
4) None of the above

2) |81
4)%%@(@3‘%"[

117) One of the below options is wrong about type of AutoCAD drawing units which one is it?

1) Architectural
3) Millimeter

2) Engineering
4) Decimal

117) B stfowE § 9 s aEies g g wag & |

1) anfheeaTa 2) et
3) e 4) v
118) Which command used to determine the Area
1) AR 2) AA
3) A 4) ARE
286
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% T ik e e A e B -

(v, Ay 2) AA (1. )

4) ARE (0. R, %)
ghjects are drawn on the

2y X7 Plane

4) ZX Plane

b ey Ol sifEeee Y @9 9§99 E
_2)xz@m
4y ZX wH

120) All of the following objects can be extoruded except a(n)

1) Arc 2) Polyline

3) Ellipse 4) Region
120)%&%%&@%@%3&%@%%:

1) TS 2) TR

3) ofee 4) fa
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